mean # PXL hits vs eta

<pixel hits>

Ratio

| mean # PXL Layers with measurement vs eta

1

1

[ N [
C n C
S SN ] Y
0.9E 2 0.9E
O e i T ] S
C X C
O R S 2 O 4 A S S S
O SEE OIS ST PN Rt Ao 1) TSRS SRTESS SRS SRS RIS SO
0.52_ ..................................................................... 0_52_ .....................................................................
oIt RSP PN NS O oIt RSP PO NS
s SIS EOENE RSES SO S SIS RIS RO SO
S SIS PO ES HEO oy TIPS T SO
Sk HETEIS AETE RROSS: SO T C HETEIoS AENIE RTINS N
q:_!..'..'...'..:,..'..'..'...'..:,..'..'..!..'..:...'..'...'..'..;..'..'...'..'..E..'..'...'..'.. o Qj_!..'..'...'..:,..'..'..!..'..:,..'..'..!..'..:...'..'...'..'..;..'..'...'..'...:..'..'...'..'..
. 5 5 5 5 5 T ! 5 5 5 5 5
C 5 5 5 : 5 o C 5 5 5 : :
] e oo oo o S AR ] e oo oo o S
ok é é é é é ot é é é é é
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

—=— DQM _original_step?2_ttbar-phasel-newgeom

<strip hits>

Ratio

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

3

2.5

15

0.5

.....................................................................

N
o

<strip layers>

15

0.5

—— DQM_pixelCPETemplateCutChiSquareNew7_step2_ttb

ar-phasel-newgeom

.....................................................................

[

0.95

L

Ratio

=

0.95

||||.|

b
b
p
4

w

0 1 2

N
=

3
n



	Contents
	Page 1


